
MATHS

BOOKS - TARGET MATHS (HINGLISH)

VECTORS

Classical Thinking

1. If and  are two collinear vectors, then 

A. 4

B. 3

C. 2

D. 

Answer: C

→
a = î − ĵ

→
b = − 2 î + mĵ

m =

1

2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_uDfCme0TvhS3


Watch Video Solution

2. The vectors  are non-collinear The value of  for which the

vectors  and  are collinear, is

A. 1

B. 

C. 

D. 3

Answer: C

Watch Video Solution

ā and b̄ x

→
c = (x − 2)

→
a +

→
b

→
d = (2x + 1)

→
a −

→
b

1

2

1

3

3. If  are collinear vectors, then

A. 

B. 

3i − 2j + 5k and − 2i + pj − qk

p = , q =
4
3

−10

3

p = , q =
10

3
4
3

https://dl.doubtnut.com/l/_uDfCme0TvhS3
https://dl.doubtnut.com/l/_djlPTO0ehbHg
https://dl.doubtnut.com/l/_97Sjjp1oTKVH


C. 

D. 

Answer: D

Watch Video Solution

p = , q =
−4
3

10

3

p = , q =
4
3

10

3

4. The points  will be collinear if

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A¯̄¯̄¯(a), B¯̄̄¯̄(b), C¯̄̄¯̄(c)

ā + b̄ + c̄ = 0̄

ā × b̄ + b̄ × c̄ + c̄ × ā = 0̄

ā. b̄ + b̄. c̄ + c̄. ā = 0̄

ā × (b̄ + c̄) + b̄ × (c̄ + ā) + c̄ × (ā + b̄) = 0

https://dl.doubtnut.com/l/_97Sjjp1oTKVH
https://dl.doubtnut.com/l/_7bVJ0ZbrSpzB


5. If  and  then express  as linear

combination of  and 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ā = î + ĵ, b̄ = 2 î − ĵ r̄ = 2 î − 4ĵ,
→
r

ā b̄

r̄ = 2ā + 2b̄

r̄ = − 2ā + 2b̄

r̄ = 2ā − 2b̄

r̄ = − 2ā − 2b̄

6. Let

, where  are non-collinear vectors, if  then

A. 

B. 

¯̄̄A = (x + 4y)ā + (2x + y + 1)b̄ and ¯̄̄B = (y − 2x + 2)ā + (2x − 3y − 1)

ā and b̄ 3¯̄̄A = 2¯̄̄B,

x = 1, y = 2

x = 2, y = 1

https://dl.doubtnut.com/l/_eTLON9XK3Cl0
https://dl.doubtnut.com/l/_WK34pCxOxBus


C. 

D. 

Answer: C

Watch Video Solution

x = 2, y = − 1

x = − 1, y = 2

7. A vector coplanar with the non-collinear vectors  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ā and b̄

ā × b̄

ā + b̄

ā. b̄

ā × 3b̄

https://dl.doubtnut.com/l/_WK34pCxOxBus
https://dl.doubtnut.com/l/_W5vdbnjDDCnJ


8. The vectors  are

A. Collinear

B. Coplanar

C. Non-coplanar

D. Non-collinear

Answer: B

Watch Video Solution

ā, b̄ and ā + b̄

9.  are position vectors of two points  The position

vectors of a point which divides  internally in the ratio  is

A. 

B. 

C. 

D. 

p̄ and q̄ P and Q.

PQ 2: 5

p̄ + q̄

7

5p̄ + 2q̄

7

2p + 5q

7

p̄ − q̄

7

https://dl.doubtnut.com/l/_kNUdBIeSvxXo
https://dl.doubtnut.com/l/_58R8vj9m853k


Answer: B

Watch Video Solution

10. The co-ordinates of the points which divides line segment joining the

point  internally in the ratio  are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A(2, 3, − 1) and B(3, 1, 4) 2: 3

( , , 1)
−12

5

−11

5

( , , 1)
12

5

11

5

( , , )
−12

5

−11

5

1

5

( , , )
12

5

11

5

1

5

11. If O is origin and C is the mid - point of A (2, -1) and B ( -4, 3) . Then

value of OC is

https://dl.doubtnut.com/l/_58R8vj9m853k
https://dl.doubtnut.com/l/_YxfbkMziowta
https://dl.doubtnut.com/l/_F93dx5AQZitf


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

î + ĵ

î − ĵ

− î + j

− î − ĵ

12. If the position vectors of the points  are  and 

 then what will be the position vectors of the mid point of 

A. 

B. 

C. 

D. 

A and B î + 3ĵ − k̂

3 î − ĵ − 3k̂,

AB

î + 2ĵ − k̂

2 î + ĵ − 2k̂

î + ĵ − k̂

î + ĵ − 2k̂

https://dl.doubtnut.com/l/_F93dx5AQZitf
https://dl.doubtnut.com/l/_qp9Qf5iBQx7m


Answer: B

Watch Video Solution

13. Position vectors of a point which divides line joining points 

whose position vectors are  and  externally in the

ratio  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A and B

2 î + ĵ − k̂ î − ĵ + 2k̂

5: 2

( î − 7ĵ + 12k̂)
1

3

− ( î + 7ĵ − 12k̂)
1

3

î − 7ĵ + 12k̂

î + 7ĵ − 12k̂

https://dl.doubtnut.com/l/_qp9Qf5iBQx7m
https://dl.doubtnut.com/l/_XC2UccwxGkGe


14. If  then the co-ordinates of the point

which divides  externally in the ratio  are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

P ≡ (2, − 1, 4), Q ≡ (3, 2, 1)

PQ 2: 1

(4, 5, 2)

( − 4, 5, − 2)

( − 4, − 5, 2)

(4, 5, − 2)

15. If the point  are

collinear, then the ratio in whihc P divides AB is

A. 

B. 

C. 

A(5, a, − 1), B(2, − 7, k) and P( , , 0)
17
4

11

4

1: 2

3: 1

2: 1

https://dl.doubtnut.com/l/_zNH5O6V3TyfK
https://dl.doubtnut.com/l/_2eDw87N6JL5S


D. 

Answer: D

Watch Video Solution

1: 3

16. If  is the

centroid of  then the values of  and  respectively are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A(2, 3, − 4), B(m, 1, − 1), C(3, 2, 2) and G(3, 2, n)

ΔABC, m n

−4, 1

3, 4

4, 3

4, − 1

https://dl.doubtnut.com/l/_2eDw87N6JL5S
https://dl.doubtnut.com/l/_iHR4aKHZcjyU


17. If  are the vertices of triangle 

 is centroid, then values of  are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A(a, 2, 2), B(a, b, 1) and C(1, 2, − 2)

ABC and G(2, 1, c) a, b and c

a = , b = 1, c = 1
1

2

a = , b = − 1, c =
5

2

1

3

a = − 1, b = 1, c =
3

2

a = , b = , c − 1
1

2

1

2

18. If  are the unit vectors and mutually perpendicular, then  is

equal to

A. 0

B. 

C. 1

î, ĵ, k̂ [ îk̂ĵ]

−1

https://dl.doubtnut.com/l/_GcRkLXGYOI9k
https://dl.doubtnut.com/l/_HwPd7QUuKQyp


D. 2

Answer: B

Watch Video Solution

19. The scalar triple product of the vectors  is

A. 0

B. 10

C. 

D. 

Answer: D

Watch Video Solution

2 î, 3ĵ and − 5k̂

−15

−30

20. The value of  is( î + ĵ). [(ĵ + k̂) × (k̂ + î)]

https://dl.doubtnut.com/l/_HwPd7QUuKQyp
https://dl.doubtnut.com/l/_tnP0r0rjJV6A
https://dl.doubtnut.com/l/_3SEEjrd4v3fT


A. 0

B. 1

C. 

D. 2

Answer: D

Watch Video Solution

−1

21. If  then 

A. 2

B. 3

C. 6

D. 5

Answer: D

ā = î − ĵ + k̂, b̄ = î + ĵ − 4 k̂, c̄ = − î + 2 ĵ − k̂,

[āb̄c̄] =

https://dl.doubtnut.com/l/_3SEEjrd4v3fT
https://dl.doubtnut.com/l/_CS4EC28PqGC4


Watch Video Solution

22. If

then  is

A. 122

B. 

C. 120

D. 

Answer: B

Watch Video Solution

ā = 3 î − 2 ĵ + 2 k̂, b̄ = 6 î + 4 ĵ − 2 k̂ and c̄ = 3 î − 2 ĵ − 4 k̂,

ā(b̄ × c̄)

−144

−120

23. Let  three vectors, Then scalar triple product  is equal

to

ā, b̄ and c̄ [āb̄c̄]

https://dl.doubtnut.com/l/_CS4EC28PqGC4
https://dl.doubtnut.com/l/_SsBj21A7CTXW
https://dl.doubtnut.com/l/_cKhRf044Ana1


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[b̄, ā, c̄]

[ā, c̄, b̄]

[c̄, b̄, ā]

[b̄, c̄, ā]

24. If  are three vectors, then  is not equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ā, b̄, c̄ [ā, b̄, c̄]

[b̄c̄ā]

[c̄āb̄]

−[b̄āc̄]

[b̄āc̄]

https://dl.doubtnut.com/l/_cKhRf044Ana1
https://dl.doubtnut.com/l/_3DCkYc6PAc8y


25. 

A. 1

B. 3

C. 

D. 

Answer: D

Watch Video Solution

[ î k̂ ĵ] + [ k̂ ĵ î] + [ ĵ k̂ î]

−3

−1

26. The scalar triple product of vectors is zero if______

A. One of the vectors is zero vectors

B. Any two vectors are non-collinear

C. the three vectors are non-coplanar

https://dl.doubtnut.com/l/_3DCkYc6PAc8y
https://dl.doubtnut.com/l/_3PID0HnAEteW
https://dl.doubtnut.com/l/_Xn4nBk9gOYQH


D. All of the above

Answer: A

Watch Video Solution

27. If  are non-coplanar vectors then 

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

ā, b̄, c̄ [ā + 2b̄  ā + c̄  b̄] =

[ā, b̄, c̄]

−[ā, b̄, c̄]

2[ā, b̄, c̄]

https://dl.doubtnut.com/l/_Xn4nBk9gOYQH
https://dl.doubtnut.com/l/_rKujh0wM9bfU


28. If  are non-coplanar vectors, then three points with position

vectors  will be collinear if

m equals

A. 2

B. 3

C. 0

D. 

Answer: B

Watch Video Solution

ā, b̄, c̄

ā − 2b̄ + 3c̄, 2ā + mb̄ − 4c̄ and − 7b̄ + 10c̄

−1

29. The vectors 

are collinear, if  equals

A. 3

B. 4

î + 2 ĵ + 3 k̂, λ î + 4 ĵ + 7 k̂ and − 3 î − 2 ĵ − 5 k̂

λ

https://dl.doubtnut.com/l/_dWYyC1ebPKfn
https://dl.doubtnut.com/l/_Ss2sBtEOkq6O


C. 5

D. 6

Answer: A

Watch Video Solution

30. If  are any vectors, then which of these sets of vectors are

coplanar

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ā, b̄, c̄

ā + b̄, b̄ + c̄, c̄ + ā

ā × b̄, b̄ × c̄, c̄ × ā

ā − b̄, b̄ − c̄, c̄ − ā

ā + 2b̄, b̄ + 2c̄, c̄ + 2ā

https://dl.doubtnut.com/l/_Ss2sBtEOkq6O
https://dl.doubtnut.com/l/_fwtToK36toQu
https://dl.doubtnut.com/l/_wsHXQK11EZgR


31. If  are

coplanar then the value of p will be

A. 

B. 

C. 2

D. 6

Answer: A

Watch Video Solution

ā = î − ĵ + k̂, b̄ = î + 2 ĵ − k̂ and c̄ = 3 î + p ĵ + 5 k̂

−6

−2

32. If the vectors  are

coplanar, then the value of  is

A. 

B. 2

C. 1

î + 3 ĵ − 2 k̂, 2 î − ĵ + 4k and 3 î + 2 ĵ + x k̂

x

−2

https://dl.doubtnut.com/l/_wsHXQK11EZgR
https://dl.doubtnut.com/l/_FeZJ2Le15Ygy


D. 3

Answer: B

Watch Video Solution

33. If vectors  are coplanar, then a is

equal to

A. 

B. 3

C. 

D. 0

Answer: A

Watch Video Solution

î + ĵ + k̂, ĵ − î, î + 2 ĵ + a k̂

3

2

−3

https://dl.doubtnut.com/l/_FeZJ2Le15Ygy
https://dl.doubtnut.com/l/_q2sqiTeNuAIx


34. For any vectors  correct statement is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ā, b̄, c̄

ā. (b̄ × c̄) = (c̄ × b̄). ā

ā × (b̄ × c̄) = b̄ × (c̄ × ā)

ā × (b̄ × c̄) = (ā × b̄) × c̄

ā. (b̄ × c̄) = b̄. (c̄ × ā)

35.  is equal to

A. 

B. 

C. 0

D. None of these

[ā  b̄  ā × b̄]

∣∣ā × b̄∣∣

∣∣ā × b̄∣∣
2

https://dl.doubtnut.com/l/_5C2m72EnrXCs
https://dl.doubtnut.com/l/_FZyoFapUIjSp


Answer: B

Watch Video Solution

36. If  be parrallel vectors, then 

A. 0

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

ā and b̄ [ā  c̄  b̄] =

37. If  are any three coplanar unit vectors then

A. 

ā, b̄, c̄

ā. (b̄ × c̄) = 1

https://dl.doubtnut.com/l/_FZyoFapUIjSp
https://dl.doubtnut.com/l/_i7KKjW22i76X
https://dl.doubtnut.com/l/_daesRJC3Bxwv


B. 

C. 

D. 

Answer: C

Watch Video Solution

ā. (b̄ × c̄) = 3

(ā × b̄). c = 0

(c̄ × ā). b = 1

38. If  represents the three co-

terminus edges of a parallelopiped, then its volume is given by

A. 510

B. 145

C. 286

D. 268

Answer: C

Watch Video Solution

ā = î, b̄ = 12 ĵ and c̄ = k̂
11

2

13

3

https://dl.doubtnut.com/l/_daesRJC3Bxwv
https://dl.doubtnut.com/l/_z67OpcBlYZaN


39. Three concurrent edges  of a parallelopiped are

represented by three vectors

 the volume of the

solid so formed in cubic unit is

A. 5

B. 6

C. 7

D. 8

Answer: A

Watch Video Solution

OA, OB, OC

2 î + ĵ − k̂, î + 2 ĵ + 3 k̂ and − 3 î − ĵ + k̂

40. If

are the three coterminus edges of a parallelopiped, then its volume is

ā = − 3 î + 7 ĵ + 5 k̂, b̄ = − 3 î + 7 ĵ − 3 k̂ and c = 7 î − 5 ĵ − 3 k̂

https://dl.doubtnut.com/l/_z67OpcBlYZaN
https://dl.doubtnut.com/l/_pKl9GxJuyOKJ
https://dl.doubtnut.com/l/_oNqetCc9FP9L


A. 108

B. 210

C. 272

D. 308

Answer: C

Watch Video Solution

41. The volume of the tetrahedron whose vertices are

 is

A. 26

B. 29

C. 32

D. None of these

Answer: B

A(1, − 1, 10), B( − 1, − 3, 7), C(5, − 1, 1) and D(7, − 4, 7)

https://dl.doubtnut.com/l/_oNqetCc9FP9L
https://dl.doubtnut.com/l/_R6LOjF5oTiXx


Watch Video Solution

42. The volume of the tetrahedron with vertices

 is

A. 7

B. 3

C. 15

D. 11

Answer: D

Watch Video Solution

5 î − ĵ + k̂, 7 î − 4 ĵ + 7 k̂, î − 6 ĵ + 10 k̂ and − î − 3 ĵ + 7 k̂

43. The sum of the three vectors determined by the medians of triangle

directed from the vertices is

A. 0

https://dl.doubtnut.com/l/_R6LOjF5oTiXx
https://dl.doubtnut.com/l/_Wt60KiKzF73C
https://dl.doubtnut.com/l/_kluq3arrtySD


Critical Thinking

B. 1

C. 

D. 

Answer: A

Watch Video Solution

−1

1

3

1. The points with respective position vectors

 are collinear if  is equal to

A. 

B. 40

C. 20

D. 

60 î + 3ĵ, 40 î − 8ĵ, xî– 52ĵ x

−40

−20

https://dl.doubtnut.com/l/_kluq3arrtySD
https://dl.doubtnut.com/l/_FZa6Qbr4hyhk


Answer: A

Watch Video Solution

2. If the vectors  collinear, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

î + 2 k̂, ĵ + k̂ and λ î + μ ĵ

λ = 2, μ = 1

λ = 2, μ = − 1

λ = − 1, μ = 2

λ = − 1, μ = − 2

3. If the vectors

 are collinear

then

− î + 3 ĵ + 2 k̂, − 4 î + 2 ĵ − 2 k̂ and 5 î + λ ĵ + μ k̂

https://dl.doubtnut.com/l/_FZa6Qbr4hyhk
https://dl.doubtnut.com/l/_YYWP66jFOotk
https://dl.doubtnut.com/l/_OXXMnOWIrNv0


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

λ = 5, μ = 10

λ = 2, μ = − 1

λ = − 5, μ = 10

λ = 5, μ = − 10

4. If three points A,B and C have position vectors (1,x,3),(3,4,7) and (y,-2,-5),

respectively and if they are collinear, then find (x,y).

A. 

B. 

C. 

D. 

Answer: A

2, − 3

−2, 3

2, 3

−2, − 3

https://dl.doubtnut.com/l/_OXXMnOWIrNv0
https://dl.doubtnut.com/l/_R50JWsiKB4Gh


Watch Video Solution

5. If the position vectors of the point  be 

 respectively then the point 

are collinear if

A. 

B.  are arbitary scalars

C. 

D.  is arbitary scalar

Answer: D

Watch Video Solution

A, B, C

î + ĵ, î − ĵ and a î + b ĵ + c k̂ A, B, C

a = b = c = 1

a = 1, b and c

a = b = c = 0

c = 0, a = 1 and b

6. Three points whose position vectors are  are

collinear, then the value of  is

ā + b̄, ā − b̄ and ā + kb̄

k

https://dl.doubtnut.com/l/_R50JWsiKB4Gh
https://dl.doubtnut.com/l/_Pb9ecVODauOm
https://dl.doubtnut.com/l/_oTrFzuISjbZB


A. Zero

B. Only negative real number

C. Only positive real number

D. Every real number

Answer: D

Watch Video Solution

7. If  be there non-zero vectors, no two of which are collinear. If

the vectors  is collinear with  is collinear with a, then

(  being some non-zero scalar)  is equal to

A. 

B. 

C. 

D. 0

ā, b̄ and c̄

ā + 2b̄ c̄ and b̄ + 3c̄

λ ā + 2b̄ + 6c̄

λā

λb̄

λc̄

https://dl.doubtnut.com/l/_oTrFzuISjbZB
https://dl.doubtnut.com/l/_rdmsOdIRS4hB


Answer: D

Watch Video Solution

8. If the points  have position vectors 

 respectively, then three collinear points

are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A, B, C and D

ā, 2ā + b̄, 4ā + 2b̄ and 5ā + 4b̄

A, B, D

A, B, C

B, C, D

A, C, D

https://dl.doubtnut.com/l/_rdmsOdIRS4hB
https://dl.doubtnut.com/l/_XZTIilw7giOb


9. If

where  are non-coplanar vectors, then  in terms of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ā = 2p̄ + 3q̄ − r̄, b̄ = p̄ − 2q̄ + 2r̄ and c̄ = − 2p̄ + q̄ − 2r̄ and ¯̄̄R = 3p̄

p̄, q̄ , r̄ ¯̄̄R ā, b̄, c̄

5ā + 2b̄ + 3c̄

3ā + 5b̄ + 2c̄

2ā + 5b̄ + 3c̄

5ā + 3b̄ + 2c̄

10. If  are non-

coplanar, then  is equal to

A. 

B. 

ā + b̄ + c̄ = λd̄ and b̄ + c̄ + d̄ = μā and ā, b̄, c̄

ā + b̄ + c̄ + d̄

μb̄

λā

https://dl.doubtnut.com/l/_M8r2cFsArID5
https://dl.doubtnut.com/l/_ClWqS8Hc5LRF


C. 

D. 

Answer: C

Watch Video Solution

0̄

(λ ∣ μ)ā

11. A and B are two points. The position vector of A is 6b-2a. A point P

divides the line AB in the ratio 1:2. if a-b is the position vector of P, then

the position vector of B is given by

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

7ā − 15b̄

7ā + 15b̄

15ā − 7b̄

15ā + 7b̄

https://dl.doubtnut.com/l/_ClWqS8Hc5LRF
https://dl.doubtnut.com/l/_1ZFbMKjEsP1C


12. If are the position vectors of the points A, B, C respectively and 

, then find the ratio in which the point C divides line

segment AB.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ā, b̄, c̄

2ā + 3b̄ − 5c̄ = 0̄

2: 3

3: 2

3: 5

5: 2

13. If  then the vectors 

 which bisects  is equal to

A. 

¯̄̄ ¯̄¯OA = î + 3 ĵ − 2 k̂ and ¯̄̄ ¯̄¯OB = 3 î + ĵ − 2 k̂,

¯̄̄ ¯̄¯OC ∠AOB

î − ĵ − k̂

https://dl.doubtnut.com/l/_1ZFbMKjEsP1C
https://dl.doubtnut.com/l/_2ejJPxbb7yKk
https://dl.doubtnut.com/l/_q1H5Io9j5f5l


B. 

C. 

D. 

Answer: D

Watch Video Solution

2( î + ĵ + k̂)

− î + ĵ − k̂

2( î + ĵ − k̂)

14.  are position vectors of points A and B. If P divides AB in the ratio 

 and Q is the mid-point of AP, then position vectors of Q will be

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ā, b̄

3: 1

(ā − b̄)
1

2

(ā + b̄)
1

2

(5ā + 3b̄)
1

8

(5ā − 3b̄)
1

8

https://dl.doubtnut.com/l/_q1H5Io9j5f5l
https://dl.doubtnut.com/l/_esaSF8iKvMll


15. If  then A divides BC in the ratio

A.  externally

B.  internally

C.  externally

D.  internally

Answer: A

Watch Video Solution

2ā + b̄ = 3c̄,

3: 1

3: 1

1: 3

1: 3

16. In , P is the mid point of BC,Q divides CA internally in the ratio 

 and R divides AB externally in the ratio  then

A. R divides PQ externally in the ratio 

B. P,Q,R are collinear

C. P divides QR externally in the ratio 

ΔABC

2: 1 1: 2

2: 1

3: 2

https://dl.doubtnut.com/l/_esaSF8iKvMll
https://dl.doubtnut.com/l/_Tc8JPHHktDTl
https://dl.doubtnut.com/l/_c0WzvfX46sMh


D. Q divides PR internally in the ration 

Answer: B

Watch Video Solution

3: 2

17. If  and 

 depends on

A. only x

B. only y

C. neither x nor y

D. both x and y

Answer: C

Watch Video Solution

→a = î − k̂, →
b = xî + ĵ + (1 − x)k̂

c
= yî + xĵ + (1 + x − y)k̂. Then [→a, →

b, →c]

https://dl.doubtnut.com/l/_c0WzvfX46sMh
https://dl.doubtnut.com/l/_R4nYVJtl7REx


18. If the points  are co-planar

then value of p is

A. 1

B. 2

C. 

D. 0

Answer: A

Watch Video Solution

(1, 1, 2), (2, 1, p), (1, 0, 3) and (2, 2, 0)

−1

19. If the points A, B, C and D with position vectors

 are

coplanar then  is equal to

A. 5

B. 7

î + ĵ + k̂, 2 î + 3 ĵ + k̂, î + 2 ĵ + 5 k̂ and λ î + 3 ĵ + 4 k̂

λ

https://dl.doubtnut.com/l/_IZ1BHkOM9iWs
https://dl.doubtnut.com/l/_TT0CSiymqoqv


C. 2

D. 

Answer: D

Watch Video Solution

13

8

20. If  are coplanar, then 

 is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a î + ĵ + k̂, î − b ĵ + k̂, î + ĵ − c k̂

abc + 2

a + b − c

a − b − c

a + b + c

a − b + c

https://dl.doubtnut.com/l/_TT0CSiymqoqv
https://dl.doubtnut.com/l/_GikyI2NRwUiN
https://dl.doubtnut.com/l/_UuBJliuAx9PD


21. If the given vectors

are coplanar, where none of  is zero then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( − bc, b2 + bc, c2 + bc)(a2 + ac, − ac, c2 + ac) and (a2 + ab, b2 + ab, −

a, b and c

a2 + b2 + c2 = 1

bc + ca + ab = 0

a + b + c = 0

a2 + b2 + c2 = bc + ca + ab

22. If  are non-zero, non collinear vectors, then the vectors 

 are

A. collinear

B. Coplanar

ā, b̄, c̄

ā − b̄ + c̄, 4ā − 7b̄ − c̄ and 3ā + 6b̄ + 6c̄

https://dl.doubtnut.com/l/_UuBJliuAx9PD
https://dl.doubtnut.com/l/_M1c60J7s5bUa


C. both collinear and co-planar

D. neither collinear nor coplanar

Answer: D

Watch Video Solution

23. Given vectors  such that  the value of 

 is

A. 3

B. 1

C. 

D. 

Answer: B

Watch Video Solution

ā, b̄, c̄ ā. (b̄ × c̄) = λ ≠ 0

(b̄ × c̄). (ā + b̄ + c̄)/λ

−3λ

3

λ

https://dl.doubtnut.com/l/_M1c60J7s5bUa
https://dl.doubtnut.com/l/_wypqjJ4dj8aA
https://dl.doubtnut.com/l/_YUkgx9eqmRyN


24. For any three vectors  is

equal to:

A. 

B. 

C. 

D. 0

Answer: D

Watch Video Solution

ā, b̄ and c̄, (ā − b̄)[(b̄ + c̄) × (c̄ + ā)]

2ā. (b̄ × c̄)

[ā  b̄  c̄]

[ā  b̄  c̄]
2

25. If  and  are three non-coplanar vectors, then : 

 =

A. 0

B. 

C. 

ā, b̄ c̄

(ā + b̄ + c̄) ⋅ [(ā + b̄) × (ā + c̄)]

[ā  b̄  c̄]

−[āb̄c̄]

https://dl.doubtnut.com/l/_YUkgx9eqmRyN
https://dl.doubtnut.com/l/_K1Zuzc1XjsiM


D. 

Answer: C

Watch Video Solution

2[ā, b̄, c̄]

26. If , then

 is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

r̄ = l(b̄ × c̄) + m(c̄ × ā) + n(ā × b̄) and [āb̄c̄] = 2

l + m + n

(ā + b̄ + c̄)r̄

(ā + b̄ + c̄)r̄
1̄

2

(ā + b̄ + c̄)(ā + b̄ + c̄)
1

3

(ā + b̄ + c̄)r̄
2

3

https://dl.doubtnut.com/l/_K1Zuzc1XjsiM
https://dl.doubtnut.com/l/_dSBdmBLgCFmF


27. The volume of parallelopiped with vector

 is equal to  then 

A. 

B. 3

C. 2

D. 

Answer: B

Watch Video Solution

ā + 2b̄ − c̄, ā − b̄ and ā − b̄ − c̄ k[āb̄c̄] k =

−3

−2

28. If the volume of parallelopiped with coterminus edges

 is 8 then

A. 

B. 

C. 

−p î + 5k, î − ĵ + q k̂ and 3 î − 5 ĵ

5pq + 18 = 0

3pq − 18 = 0

pq + 18 = 0

https://dl.doubtnut.com/l/_A0WWWSJ3znNQ
https://dl.doubtnut.com/l/_quWtLi0IfXdc


D. 

Answer: A

Watch Video Solution

pq − 18 = 0

29. If the volumes of tetrahearon where vertices

 is , unit, find the

value of 

A. 0

B. 1

C. 4

D. 

Answer: B

Watch Video Solution

(1, 2, 0), (2, 0, 4), ( − 1, 2, 0) and ( − 1, 1, λ) cu
2

3

λ

−2

https://dl.doubtnut.com/l/_quWtLi0IfXdc
https://dl.doubtnut.com/l/_v3gBk6tbBntU
https://dl.doubtnut.com/l/_wmzojMImUzUJ


30. If D is the mid -point of side AB of , then =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔABC ¯̄̄ ¯̄¯AB + ¯̄̄ ¯̄¯BC + ¯̄̄ ¯̄¯AC

2(¯̄¯̄¯̄AD − ¯̄¯̄¯̄BD)

2(¯̄¯̄¯̄DC − ¯̄¯̄¯̄BD)

2(¯̄¯̄¯̄BD − ¯̄̄ ¯̄¯CA)

2(¯̄¯̄¯̄BD − ¯̄̄ ¯̄¯AC)

31. The vector  are the sides of a

triangle ABC. The length of the median through A is

A. 

B. 

C. 

D. 

¯̄̄ ¯̄¯AB = 3 î + 4k̂ and ¯̄̄ ¯̄¯AC = 5 î − 2ĵ + 4k̂

√288

√18

√72

√33

https://dl.doubtnut.com/l/_wmzojMImUzUJ
https://dl.doubtnut.com/l/_E3EL9SVgGa4v


Answer: D

Watch Video Solution

32. If  are the centroids of the triangle 

then the value of  equals

A. '

B. '

C. '

D. '

Answer: C

Watch Video Solution

G and G' ABC and A'B'C' ,

¯̄̄ ¯̄̄ ¯̄AA' + ¯̄̄ ¯̄̄ ¯̄BB' + ¯̄̄ ¯̄̄ ¯̄CC'

¯̄¯̄¯̄GG

2̄ ¯̄¯̄¯GG

3̄ ¯̄¯̄¯GG

¯̄¯̄¯̄GG
2

3

33. If S is circumcentre, O is orthocentre of , then

=

ΔABC

−→
SA +

−−→
SB +

−−→
SC

https://dl.doubtnut.com/l/_E3EL9SVgGa4v
https://dl.doubtnut.com/l/_7S1B8rck1mPL
https://dl.doubtnut.com/l/_VDd6BANhMNZX


A. 

B. 

C. 

D. 2

Answer: A

Watch Video Solution

¯̄̄ ¯̄̄SO

2̄ ¯̄̄¯̄SO

¯̄̄ ¯̄̄OS

¯̄̄ ¯̄̄OS

34. If  are three successive

vertices of parallelogram  then its fourth vertex  is

A. 

B. 

C. 

D. 

Answer: B

A( − 3, − 2, 0), B(3, − 3, 1) and C(5, 0, 2)

ABCD, D

(1, 1 − 1)

( − 1, 1, 1)

(1, − 1, 1)

(2, − 3, 5)

https://dl.doubtnut.com/l/_VDd6BANhMNZX
https://dl.doubtnut.com/l/_iHmFUo11JXyG


Competitive Thinking

Watch Video Solution

35. In a trapezium, if the vectors  is

collinear with , then

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

¯̄̄ ¯̄¯BC = λ(AD), ¯̄̄P = ¯̄̄ ¯̄¯AC + ¯̄¯̄¯̄BD

¯̄¯̄¯̄AD and ¯̄̄P = μ¯̄¯̄¯̄AD

μ = λ + 1

λ = μ + 1

λ + μ = 1

μ = 2 + λ

1. If the point  are collinear, then the value of  is

equal to

(1, 0), (0, 1) and (x, 8) x

https://dl.doubtnut.com/l/_iHmFUo11JXyG
https://dl.doubtnut.com/l/_5Aacydx4Sn8D
https://dl.doubtnut.com/l/_8PHLC9cnt2Cn


A. 5

B. 

C. 6

D. 

Answer: D

Watch Video Solution

−6

−7

2. The points with position vectors 

are collinear. The value of p is

A. 7

B. 

C. 

D. 37

Answer: B

20 î + p ĵ, 5 î − ĵ and 10 î − 13 ĵ

−37

−7

https://dl.doubtnut.com/l/_8PHLC9cnt2Cn
https://dl.doubtnut.com/l/_c4gkiFHsHevx


Watch Video Solution

3. If the points  are collinear,

where  are three non-coplanar vectors, then the value of  is

A. 

B. 

C. 

D. 2

Answer: D

Watch Video Solution

P(ā + 2b̄ + c̄). Q(2ā + 3b̄) and R(b̄ + tc̄)

ā, b̄, c̄ t

−2

−
1

2

1

2

4. If the position vectors of the points  are 

respectively, then the position  are

A. Collinear

A, B, C ā, b̄ and 3ā − 2b̄

A, B, C

https://dl.doubtnut.com/l/_c4gkiFHsHevx
https://dl.doubtnut.com/l/_YF6qwTjFuDe1
https://dl.doubtnut.com/l/_3oyFbQ9kXpvK


B. Non-collinear

C. Forming a right angled triangle

D. None of these

Answer: A

Watch Video Solution

5. If  are three non-zero vectors which are pairwise non-collinear. If 

 is collinear with  is collinear with , then 

 is

A. 

B. 

C. 

D. 

Answer: B

ā, b̄, c̄

ā + 3b̄ c̄ and b̄ + 2c̄ ā

ā + 3b̄ + 6c̄

c̄

0̄

ā + c̄

ā

https://dl.doubtnut.com/l/_3oyFbQ9kXpvK
https://dl.doubtnut.com/l/_NN26rsssoy76


Watch Video Solution

6. If the vectors  are parallel, then

the value of  will be

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3 î + 2 ĵ − k̂ and 6 î − 4x ĵ + y k̂

x and y

−1, − 2

1, − 2

−1, 2

1, 2

7. If the vectors  are collinear, if

A. 

B. 

3 î + ĵ − 5 k̂ and a î + b ĵ − 15 k̂

a = 3, b = 1

a = 9, b = 1

https://dl.doubtnut.com/l/_NN26rsssoy76
https://dl.doubtnut.com/l/_nQ2mqJztcRT6
https://dl.doubtnut.com/l/_D7YeWPgQVMW0


C. 

D. 

Answer: D

Watch Video Solution

a = 3, b = 3

a = 9, b = 3

8. If  are non-collinear vectors and x,y are scalars such that 

, then

A. , but y is not necessarily zero

B.  but x is nont necessary zero

C. 

D. None of these

Answer: C

Watch Video Solution

ā, b̄

xā + yb̄ = 0̄

x = 0

y = 0,

x = 0, y = 0

https://dl.doubtnut.com/l/_D7YeWPgQVMW0
https://dl.doubtnut.com/l/_5CIOrrc1nqk9
https://dl.doubtnut.com/l/_y6LsE4Z35OHb


9. If  are non-collinear vectors such that for some scalar 

, then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ā, b̄, c̄

x, y, z, xā + yb̄ + zc̄ = 0

x = 0, y = 0, z = 0

x ≠ 0, y ≠ , z = 0

x = 0, y ≠ 0, z ≠ 0

x ≠ 0, y ≠ 0z ≠ 0

10.  are two non collinear vectors then  (where x and

y are scalars) represents a vector which is (A) parallel to vecb parallel

to  (C) coplanar with  (D) none of these

A. Parallel to 

B. Parallel to 

→
a and

→
b x

→
a + y

→
b

(B)

→
a

→
a and

→
b

b̄

ā

https://dl.doubtnut.com/l/_y6LsE4Z35OHb
https://dl.doubtnut.com/l/_dyTZNJf2gGYb


C. Coplanar with 

D. None of these

Answer: C

Watch Video Solution

ā and b̄

11. If

then 

A. 0

B. 1

C. 2

D. 

Answer: C

Watch Video Solution

ā = î + ĵ − 2 k̂, b̄ = 2 î − ĵ + k̂ and c̄ = 3 î + k̂ and c̄ = mā + nb̄

m + n

−1

https://dl.doubtnut.com/l/_dyTZNJf2gGYb
https://dl.doubtnut.com/l/_CrZpZO2W2Zqp


12. The position vectors of the point which divides internally in the ratio

 the join of the points , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2: 3 2ā − 3b̄ and 3ā − 2b̄

ā + b̄
12

5

13

5

ā − b̄
12

5

13

5

ā − b̄
3

5

2

5

ā = b̄
2

5

3

5

13. Let  be two points. If a point P divides

AB internally in the ratio , then the position vector of P is

A. 

B. 

A(1, − 1, 2) and B(2, 3 − 1)

2: 3

( î + ĵ + k̂)
1

√5

( î + 6 ĵ + k̂)
1

√3

https://dl.doubtnut.com/l/_CrZpZO2W2Zqp
https://dl.doubtnut.com/l/_C2cHShJU2Iaw
https://dl.doubtnut.com/l/_kgiGGSsYnnSU


C. 

D. 

Answer: D

Watch Video Solution

( î + ĵ + k̂)
1

√3

(7 î + 3 ĵ + 4 k̂)
1

5

14. If  are z co-ordinates of the point of trisection of the

segment joining the points  then 

A. 1

B. 4

C. 5

D. 10

Answer: D

Watch Video Solution

z1 and z2

A(2, 1, 4), B( − 1, 3, 6) z1 + z2 =

https://dl.doubtnut.com/l/_kgiGGSsYnnSU
https://dl.doubtnut.com/l/_MNsIJ8FXIuWm
https://dl.doubtnut.com/l/_HTCEVV1MnrmI


15. If the position vector of a point A is  divides AB in the

ratio , then the position vector of B, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

→
a + 2

→
b and

→
a

2: 3

ā + b̄

ā

ā − 3b̄

b̄

16. Assertion  If  are respectively the

orthocentre and circumcentre of a triangle, then  is its centroid.

Reason  Centroid of a triangle divides the line segment joining the

orthocentre and the circumcentre in the ratio ,

A. A and R are true and R is correct explanation to A.

(A) : ( − 1, 3, 2) and (5, 3, 2)

(3, 3, 2)

(R) :

1: 2

https://dl.doubtnut.com/l/_HTCEVV1MnrmI
https://dl.doubtnut.com/l/_dyqjAYW2RM9i


B. A and R are true but R is not the correct explanation to A.

C. A is true, R is false.

D. A is false. R is true.

Answer: C

Watch Video Solution

17. If the orthocentre and centroid of a triangle are

 respectively, then its circumcentre is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( − 3, 5, 2) and (3, 3, 4)

(6, 2, 5)

(6, 2, − 5)

(6, − 2, 5)

(6, − 2, − 5)

https://dl.doubtnut.com/l/_dyqjAYW2RM9i
https://dl.doubtnut.com/l/_epdxxwCHS7QD


18. L and M are two points with position vectors ,

respectively. The position vector of the pont N which divides the line

segment LM in the ratio 2:1 externally is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2
→
a −

→
b and

→
a + 2

→
b

3b̄

4b̄

5b̄

3ā + 4b̄

19. The position vector of a point R which divides the line joining two

points P and Q whose position vectors are

 respectively, in the ratio 

externally is

î + 2 ĵ − k̂ and − î + ĵ − k̂ 2: 1

https://dl.doubtnut.com/l/_epdxxwCHS7QD
https://dl.doubtnut.com/l/_RvchnecXdQ7Z
https://dl.doubtnut.com/l/_T2L631ejbImj


A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

−3 î − k̂

3 î + k̂

2 î + ĵ − k̂

20. If , then

A.  are collinear

B.  vertices of a 

C. Q divides PR externally

D. None of these

Answer: A

Watch Video Solution

3¯̄̄P + 2¯̄̄R − 5¯̄̄Q = 0̄

P , Q, R

P , Q, R Δ

https://dl.doubtnut.com/l/_T2L631ejbImj
https://dl.doubtnut.com/l/_kJW7DKx2COx7


21. If three points A,B,C are collinear, whose position vectors are

 respectively, then the

ratio in which B divides AC is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

î − 2 ĵ − 8 k̂, 5 î − 2 k̂ and 11 î + 3 ĵ + 7 k̂

1: 2

2: 3

2: 1

1: 1

22. Let  be a quadrilateral. If M and N are the mid-points of the

sides PQ and RS respectively, then PS+QR=

A. 

□ PQRS

3̄ ¯̄̄ ¯̄̄ ¯MN

https://dl.doubtnut.com/l/_kJW7DKx2COx7
https://dl.doubtnut.com/l/_ru6TAImzF7wl
https://dl.doubtnut.com/l/_gFO4NXNAVpeh


B. 

C. 

D. 

Answer: C

Watch Video Solution

4̄ ¯̄̄ ¯̄̄ ¯MN

2̄ ¯̄̄ ¯̄̄ ¯MN

2̄ ¯̄̄ ¯̄̄ ¯NM

23. In  are points on  respectively, dividing

them in the ratio  if the point K divides AB in the ratio ,

then 

A. 

B. 

C. 

D. 

Answer: A

ΔABC, L, M, N BC, CA, AB

1: 2, 2: 3, 3: 5, 5: 3

=
∣∣̄ ¯̄̄¯̄AL + ¯̄¯̄¯̄¯BM + ¯̄¯̄¯̄CN∣∣

∣∣̄ ¯̄¯̄¯CK∣∣

1

15

2

5

5

8

3

5

https://dl.doubtnut.com/l/_gFO4NXNAVpeh
https://dl.doubtnut.com/l/_ye7eXgsfsVrm


Watch Video Solution

24. Let  be the centroid of a triangle ABC and O be any other point, then

 is equal to

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

G

¯̄̄ ¯̄¯OA + ¯̄̄ ¯̄¯OB + ¯̄̄ ¯̄¯OC

0̄

¯̄¯̄̄ ¯OG

3̄ ¯̄̄ ¯̄OG

25. If  are the vertices of a triangle whose position vectros are 

 is the centroid of the  then 

A, B, C

→
a ,

→
b ,

→
c and G ΔABC,

¯̄¯̄̄ ¯GA + ¯̄¯̄̄ ¯GB + ¯̄¯̄̄ ¯GC =

https://dl.doubtnut.com/l/_ye7eXgsfsVrm
https://dl.doubtnut.com/l/_f5tDj37oeF42
https://dl.doubtnut.com/l/_nDF2N9ZeTbba


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0̄

ā + b̄ + c̄

ā + b̄ + c̄

3

ā + b̄ − c̄

3

26. If  then

A. 6

B. 10

C. 12

D. 24

Answer: C

ā = 2 î + ĵ − k̂, b̄ = î + 2 ĵ + k̂ and c̄ = î − ĵ + 2 k̂,

ā. (b̄ × c̄) =

https://dl.doubtnut.com/l/_nDF2N9ZeTbba
https://dl.doubtnut.com/l/_2V4mgwXsba8d


Watch Video Solution

27. If

, then  is equal to

A. 6

B. 7

C. 9

D. 10

Answer: A

Watch Video Solution

ā = î + ĵ + k̂, b̄ = 2 î + λ ĵ + k̂, c̄ = î − ĵ + 4 k̂ and ā. (b̄ × c̄) =

λ

28. If  is perpendicular to  and the

angle between  is . then  is equal to

ā b̄ and c̄, |ā| = 2, ∣∣b̄∣∣ = 3, |c̄| = 4

b̄ and c̄
2π

3
[ā  b̄  c̄]

https://dl.doubtnut.com/l/_2V4mgwXsba8d
https://dl.doubtnut.com/l/_FO0Sym1dKZhp
https://dl.doubtnut.com/l/_JhV33jtUuAHC


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4√3

6√3

12√3

18√3

29. If  are mutually prependicular vectors having megnitudes 

respectively, then 

A. 0

B. 6

C. 12

D. 18

Answer: C

ā, b̄, c̄ 1, 2, 3

[ā + b̄ + c̄ b̄ − ā  c̄] =

https://dl.doubtnut.com/l/_JhV33jtUuAHC
https://dl.doubtnut.com/l/_nSd7duH20ha4


Watch Video Solution

30. The value of , where 

 is

A. 0

B. 1

C. 2

D. 4

Answer: A

Watch Video Solution

[ā − b̄, b̄ − c̄, c̄ − ā]

|ā| = 1, ∣∣b̄∣∣ = 5 and |c̄| = 3

31. The value of  is

A. 0

B. 

(ā − b̄). [(b̄ − c̄) × (c̄ − ā)]

2[ā  b̄  c̄]

https://dl.doubtnut.com/l/_nSd7duH20ha4
https://dl.doubtnut.com/l/_gTnllWUgNO9m
https://dl.doubtnut.com/l/_3PQIED5XzReV


C. 

D. None of these

Answer: A

Watch Video Solution

3[ā  b̄  c̄]

32. If a vector  lie in plane  and  then which is correct

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

¯̄̄α β̄ γ̄

[¯̄̄α , β̄, γ̄] = 0

[¯̄̄α , β̄, γ̄] = 1

[¯̄̄α , β̄, γ̄] = 3

[β̄, γ̄, ¯̄̄α ] = 1

https://dl.doubtnut.com/l/_3PQIED5XzReV
https://dl.doubtnut.com/l/_7dh7tUBRfkDl


33. If are three coplanar vectors, then 

A. 

B. 

C. 

D. 0

Answer: D

Watch Video Solution

ā, b̄, c̄ [ā + b̄  b̄ + c̄  c̄ + ā] =

[āb̄c̄]

2[āb̄c̄]

3[āb̄c̄]

34. If  be any three non-coplanar vectors, then 

A. 

B. 

C. 

D. 

ā, b̄, c̄

[ā + b̄  b̄ + c̄  c̄ + ā] =

[ā  b̄  c̄]

2[ā  b̄  c̄]

[ā  b̄  c̄]
2

2[ā  b̄  c̄]
2

https://dl.doubtnut.com/l/_QrRZCc3IBTl7
https://dl.doubtnut.com/l/_JXYvZksNG7XU


Answer: B

Watch Video Solution

35. Let  if 

, then make three vectors coplanar

A. 

B. 

C. 

D. No value of  can be found

Answer: D

Watch Video Solution

¯̄̄A = î + ĵ + k̂, ¯̄̄B = î, ¯̄̄C = C1 î + C2 ĵ + C3 k̂

C2 = − 1 and C3 = 1

C1 = 0

C1 = 1

C1 = 2

C1

36. If the vectors  be

coplanar, then 

2 î − ĵ + k̂, î + 2 ĵ − 3 k̂ and 3 î + λ ĵ + 5 k̂

λ =

https://dl.doubtnut.com/l/_JXYvZksNG7XU
https://dl.doubtnut.com/l/_ypZQDpuIdwYx
https://dl.doubtnut.com/l/_tpcb0x1Rj2CQ


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−1

−2

−3

−4

37. If the vectors  are

coplanar if

A. 

B. 

C. 

D. 

Answer: A

λ î + ĵ + 2 k̂, î + λ ĵ − k̂ and 2 î − ĵ + λ k̂

λ = − 2

λ = 0

λ = 2

λ = 1

https://dl.doubtnut.com/l/_tpcb0x1Rj2CQ
https://dl.doubtnut.com/l/_gTmfZTtF0LP7


Watch Video Solution

38. If the vectors 

are coplanar, then m is equal to

A. 38

B. 0

C. 10

D. 

Answer: C

Watch Video Solution

4 î + 11Ĵ + m k̂, 7 î + 2 ĵ + 6 k̂ and î + 5 ĵ + 4 k̂

−10

39. If the vectors  are

coplanar, then the value of  is

A. 

2 î + 2 ĵ + 6 k̂, 2 î + λ ĵ + 6 k̂, 2 î − 3 ĵ + k̂

λ

−10

https://dl.doubtnut.com/l/_gTmfZTtF0LP7
https://dl.doubtnut.com/l/_uPIDqehssAMU
https://dl.doubtnut.com/l/_Cs25TPTyhyER


B. 1

C. 0

D. 2

Answer: D

Watch Video Solution

40. If the four points with position vectors

 are coplanar, then 

A. 1

B. 2

C. 

D. 0

Answer: A

−2 î + ĵ + k̂, î + ĵ + k̂, ĵ − k̂ and λ ĵ + k̂

λ̄ =

−1

https://dl.doubtnut.com/l/_Cs25TPTyhyER
https://dl.doubtnut.com/l/_AL6NBWXXfntQ


Watch Video Solution

41. If the vectors

 are

coplanar, then 

A. 1

B. 2

C. 0

D. 

Answer: D

Watch Video Solution

ā = î + ĵ + k̂, b̄ = î − ĵ − 2 k̂ and c̄ = x î + (x − 2) ĵ − k̂

x =

−2

42. If the point having the position vectors

are coplanar then 

3 î − 2 ĵ − k̂, 2 î + 3 ĵ − 4 k̂, − î + ĵ + 2 k̂ and 4 î + 5 ĵ + λ ĵk

λ =

https://dl.doubtnut.com/l/_AL6NBWXXfntQ
https://dl.doubtnut.com/l/_MwSJbwydx6Yd
https://dl.doubtnut.com/l/_NZHqU3lGR9hl


A. 

B. 8

C. 

D. 

Answer: D

Watch Video Solution

−8

146
17

−146
17

43. If  are non-coplanar vectors and the four points with

position vectors 

are coplanar, then 

A. 0

B. 1

C. 2

D. 3

ā, b̄ and c̄

2ā + 3b̄ − c̄, ā − 2b̄ + 3c̄, 3ā + 4b̄ − 2c̄, kā − 6b̄ + 6c̄

k

https://dl.doubtnut.com/l/_NZHqU3lGR9hl
https://dl.doubtnut.com/l/_zVJa42WwTToC


Answer: B

Watch Video Solution

44. If the vectors  are

coplanar , then the value of 

A. 2

B. 

C. 0

D. 

Answer: B

Watch Video Solution

a î + ĵ + k̂, î + b ĵ + k̂ and î + ĵ + c k̂

(a ≠ b ≠ c ≠ 1) abc − (a + b + c) =

−2

−1

45. The number of distinct real value of , for which the vector

 are coplanar,is

λ

−λ2 î + ĵ + k̂, î − λ2 ĵ + k̂ and î + ĵ − λ2 k̂

https://dl.doubtnut.com/l/_zVJa42WwTToC
https://dl.doubtnut.com/l/_VVpqxinxpqpN
https://dl.doubtnut.com/l/_aB0L8xKaavqI


A. Zero

B. One

C. Two

D. Three

Answer: C

Watch Video Solution

46. The number of distinct real values of  for which the vectors

 are

coplanar is

A. 0

B. 1

C. 2

D. 3

λ

ā = λ3 î + k̂, b̄ = î − λ3 ĵ and c̄ = î + (2λ − sinλ) ĵ − λ k̂

https://dl.doubtnut.com/l/_aB0L8xKaavqI
https://dl.doubtnut.com/l/_y74ejXnptVc6


Answer: B

Watch Video Solution

47. If  are non coplanar vectros and  is a real number then the

vectors  are non coplanar for (A) all

values of lamda (B) non value of lamda (C) all except two values of lamda

(D) all except one vaue of lamda

A. No value of 

B. all except one value of 

C. all except two values of 

D. all values of 

Answer: C

Watch Video Solution

ā, b̄, c̄ λ

¯̄̄+̄ 2b̄ + 3c̄, λb̄ + 4c̄ and (2λ − 1)c̄

λ

λ

λ

λ

https://dl.doubtnut.com/l/_y74ejXnptVc6
https://dl.doubtnut.com/l/_lk773BnNDGDB


48. If the origin and the point  are

coplanar then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

p(2, 3, 4), q(, 1, 2, 3)R(x, y, z)

x − 2y − z = 0

x + 2y + z = 0

x − 2y + z = − 0

2x − 2y + z = 0

49. A vector perpendicular to  and coplanar with 

 is

A. 

B. 

C. 

2 î + ĵ + k̂

î + 2 ĵ + k̂ and î + ĵ + 2 k̂

5( ĵ − k̄)

î + 7 ĵ − k̂

5( ĵ + k̂)

https://dl.doubtnut.com/l/_BsLfchECRmQe
https://dl.doubtnut.com/l/_z1JWrb9BYdB0


D. 

Answer: A

View Text Solution

2 î − 7 ĵ − k̂

50. Given three arbitary vectors , then vectors 

 are

A. collinear

B. Coplanar

C. Non-coplanar

D. None of these

Answer: B

View Text Solution

ā, b̄, c̄

¯̄̄α = 5ā + 6b̄ + 7c̄, β = 7ā − 8b̄ + 9c̄, ȳ = 3ā + 20b̄ + 5c̄

https://dl.doubtnut.com/l/_z1JWrb9BYdB0
https://dl.doubtnut.com/l/_Srj8dQr2MuMo


51. If  for some non-zero vectors x, then

the TRUE statement is

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

x̄. ā = 0, x̄. b̄ = 0 and x̄. c̄ = 0

[ā  b̄  c̄] = 0

[ā  b̄  c̄] ≠ 0

[ā  b̄  c̄] = 1

52. which of the following expression are meaningful?

A. 

B. 

C. 

D. 

ū. (v̄ × ¯̄̄w)

(ū. v̄). ¯̄̄w

(ū. v̄) × ¯̄̄w

ū × (v̄. ¯̄̄w)

https://dl.doubtnut.com/l/_oQuMCv2nME6p
https://dl.doubtnut.com/l/_DzKFaHnAMWtY


Answer: A

Watch Video Solution

53. Out of the following which one is not true?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ā. (b̄ × c̄)

(b̄ × c̄). ā

(ā × b̄). c̄

(ā. c̄) × b̄

54. For three vectors  which of the following expressions is not

eqal to any of the remaining three?

→
u ,

→
v ,

→
w

https://dl.doubtnut.com/l/_DzKFaHnAMWtY
https://dl.doubtnut.com/l/_Ca1kgepWhHlV
https://dl.doubtnut.com/l/_YhZ4s2e5Syn4


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ū. (v̄ × ¯̄̄w)

(v̄ × ¯̄̄w). ū

v̄. (ū × ¯̄̄w)

(ū × v̄). ¯̄̄w

55. 

A. 

B. 

C. 0

D. 

Answer: C

Watch Video Solution

ā. (ā × b̄) =

b̄. b̄

¯̄̄
ā2. b̄

ā2 + ā. b̄

https://dl.doubtnut.com/l/_YhZ4s2e5Syn4
https://dl.doubtnut.com/l/_JE9oTYpIZToA


56. If  are non-coplaner vectors, then 


A. 0

B. 2

C. 

D. None of these

Answer: A

Watch Video Solution

ā, b̄, c̄

+ =
ā. b̄ × c̄

c̄ × ā. b̄

b̄. ā × c̄

c̄. ā × b̄

−2

57. If  are non-coplanar, then the value of 

 is

A. 

B. 

ā, b̄ and c̄

ā. { } − b̄. { }
b̄ × c̄

3b̄. (c̄ × ā)

c̄ × ā

2c̄(ā × b̄)

−1

2

−1

3

https://dl.doubtnut.com/l/_JE9oTYpIZToA
https://dl.doubtnut.com/l/_URPGoJLc6X0r
https://dl.doubtnut.com/l/_1I9R93u5Bf9Y


C. 

D. 

Answer: C

Watch Video Solution

−1

6

1

6

58.  is equal to

A. 

B. 

C. 

D. 0

Answer: D

Watch Video Solution

ā. [b̄ + c̄) × (ā + b̄ + c̄)]

[ā  b̄  c̄]

2[ā  b̄  c̄]

3[ā  b̄  c̄]

https://dl.doubtnut.com/l/_1I9R93u5Bf9Y
https://dl.doubtnut.com/l/_BjBqZLqzPbYD


59. 

A. 

B. 

C. 0

D. 

Answer: B

Watch Video Solution

(ā + b̄). (b̄ + c̄) × (ā + b̄ + c̄) =

−[ā  b̄  c̄]

[ā  b̄  c̄]

2[ā  b̄  c̄]

60. If , then the value of 

 is

A. 

B. 

C. 5

ā = (3 î + k̂), b̄ = (2 î + 3 ĵ − 6 k̂)
1

√10

1

7

(2ā − b̄). {(ā × b̄) × (ā + 2b̄)}

−5

−3

https://dl.doubtnut.com/l/_pi358jMz4faD
https://dl.doubtnut.com/l/_jKqZFZTlFF8a


D. 2

Answer: A

View Text Solution

61. If , where  are

three non-coplanar vectors, then the value of 

is given by

A. 3

B. 2

C. 1

D. 0

Answer: A

Watch Video Solution

p̄ = , q̄ = , r̄ =
b̄ × c̄

ā  b̄  c̄

c̄ × ā

ā  b̄  c̄

ā × b̄

ā  b̄  c̄
ā, b̄, c̄

(ā + b̄ + c̄). (p̄ + q̄ + r̄)

https://dl.doubtnut.com/l/_jKqZFZTlFF8a
https://dl.doubtnut.com/l/_rYth7bYaxIQU
https://dl.doubtnut.com/l/_FS4R2FEHQe65


62. If  are three non-coplanar vectors, the 

 equals

A. 0

B. 

C. 

D. 

Answer: B

Watch Video Solution

→
u ,

→
v ,

→
w

(
→
u +

→
v −

→
w ). (

→
u −

→
v ) × (

→
v −

→
w )

ū. (v̄ × ¯̄̄w)

ū. (¯̄̄w × v̄)

3ū. (v̄ × ¯̄̄w)

63. If  are three non-coplanar vectors and  are defined by the

relations  then 

A. 0

B. 1

ā, b̄, c̄ p̄, q̄ , r̄

p̄ = , q̄ = , r̄ =
b̄ × c̄

āb̄c̄

c̄ × ā

āb̄c̄

ā × b̄

āb̄c̄

(ā + b̄). p̄ + (b̄ + c̄). q̄ + (c̄ + ā). r̄ =

https://dl.doubtnut.com/l/_FS4R2FEHQe65
https://dl.doubtnut.com/l/_LbzQKb8vCmod


C. 2

D. 3

Answer: D

Watch Video Solution

64. If a, b and c are non-coplanar vectors and , then  is

equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

d = λa + μb + νc λ

[dbc]

[bac]

[bcd]

[bca]

[bdc]

[abc]

[cbd]

[abc]

https://dl.doubtnut.com/l/_LbzQKb8vCmod
https://dl.doubtnut.com/l/_7vEWCfhRqJoF
https://dl.doubtnut.com/l/_Ugp4kRoWIuLZ


65. If  are non -coplanar vectors and  are real numbers then

the equality 

 holds for

A. exactly one value of 

B. exactly two value of 

C. more than two but not all values of 

D. all values of 

Answer: A

Watch Video Solution

→
u ,

→
v ,

→
w p, q,

[3
→
u p

→
v p

→
w ] − [p

→
v

→
w q

→
u ] − [2

→
w − q

→
v q

→
u ] = 0

(p. q)

(p. q)

(p. q)

(p, q)

66. If  are non-coplanar vectors and  is a real numbers then 

 for

A. exactly three values of 

B. exactly two values of 

ā, b̄, c̄ λ

[λ(ā + b̄)λ2 b̄  λc̄] = [ā  b̄ + c̄  b̄]

λ

λ

https://dl.doubtnut.com/l/_Ugp4kRoWIuLZ
https://dl.doubtnut.com/l/_HeKS3mvnn4Gn


C. exactly one value of 

D. no value of 

Answer: D

Watch Video Solution

λ

λ

67. If the vectors  form three

concurrent edges of a parallelopiped, then the volume of parallelopiped

is

A. 8

B. 10

C. 4

D. 14

Answer: C

Watch Video Solution

2 î − 3 ĵ, î + ĵ − k̂ and 3 î − k̂

https://dl.doubtnut.com/l/_HeKS3mvnn4Gn
https://dl.doubtnut.com/l/_pPwnapKF9xLj


68. The volumes of the parallelopiped whose edges are represented by

 is

A. 14 cu. Units

B. 16 cu. Units

C. 18 cu. Units

D. 20 cu. Units

Answer: A

Watch Video Solution

ā = 2 î − 3 ĵ + k̂, b̄ = î − ĵ + 2 k̂, c̄ = 2 î + ĵ − k̂

69. If the volume of the tetrahedron formed by the coterminus edges

 is 4, then the volume of the parallelopiped formed by the

coterminous edges  is

A. 144

ā, b̄ and c̄

ā × b̄, b̄ × c̄ and c̄ × ā

https://dl.doubtnut.com/l/_pPwnapKF9xLj
https://dl.doubtnut.com/l/_39Jbh11OUrZm
https://dl.doubtnut.com/l/_WFQsMewKWT3i


B. 16

C. 48

D. 576

Answer: D

Watch Video Solution

70. The volume of a parallelopiped whose edges are represented by

 is 546 then 

A. 3

B. 2

C. 

D. 

Answer: C

Watch Video Solution

−12 ī + λk̄, 3j̄ − k̄ and 2 ī + j̄ − 15k̄ λ =_ _

−3

−2

https://dl.doubtnut.com/l/_WFQsMewKWT3i
https://dl.doubtnut.com/l/_IUXnld4pZutb


71. If the three co-terminous edges of a paralleloP1ped are represented by

, then its volume is

A. 

B. 

C. 

D. 0

Answer: D

Watch Video Solution

ā − b̄, b̄ − c̄, c̄ − ā

[āb̄c̄]

2[āb̄c̄]

[āb̄c̄]
2

72. If

,

then the volume of the parallelopiped with co-terminus edges

 is

ā = 2 î − 3 ĵ + 5 k̂, b̄ = 3 î − 4 ĵ + 5 k̂ and c̄ = 5 î − 3 ĵ − 2 k̂

ā + b̄, b̄ + c̄, c̄ + ā

https://dl.doubtnut.com/l/_IUXnld4pZutb
https://dl.doubtnut.com/l/_BXbq7rFLovN2
https://dl.doubtnut.com/l/_ZBrxroQiHs22


A. 1

B. 5

C. 8

D. 16

Answer: D

Watch Video Solution

73. The volume of a tetrahedron (in cubic units) whose vertices are

 is

A. 

B. 5

C. 6

D. 30

Answer: B

4 î + 5 ĵ + k̂, − ĵ + k̂, 3 î + 9 ĵ + 4 k̂ and − 2 î + 4 ĵ + 4 k̂

14
3

https://dl.doubtnut.com/l/_ZBrxroQiHs22
https://dl.doubtnut.com/l/_kgSXAGZvOqKw


View Text Solution

74. The vectors  are

sides of a triangle  The length of the median through A is

A.  units

B.  units

C. 5 units

D. 10 units

Answer: C

Watch Video Solution

¯̄̄ ¯̄¯AB = 3 î + 5 ĵ + 4 k̂ and ¯̄̄ ¯̄¯AC = 5 î − 5 ĵ + 2 k̂

ABC

√13

2√5

75.  are three points. The

coordinates of the point in which the bisector of  meets the side 

 is

A(4, 3, 5), B(0, − 2, 2) and C(3, 2, 1)

∠BAC

¯̄̄ ¯̄¯BC

https://dl.doubtnut.com/l/_kgSXAGZvOqKw
https://dl.doubtnut.com/l/_ZHLnDHEXGWGQ
https://dl.doubtnut.com/l/_beMFECvYO5o0


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( , , )
15

8
4
8

11

8

( , , )
12

7

2

7

10

7

( , , )
9

5

2

5
7
5

( , 0, )
3

2

3

2

76. If ,  and  are the

position vectors of the vertices of A,B and C of a triangle ABC, then the

position vector of the point where the bisector of  meets BC

A. 

B. 

C. 

D. 

4
→
i + 7

→
j + 8

→
k 2

→
i + 3

→
j + 4

→
k 2

→
i + 5

→
j + 7

→
j

∠A

(6 î + 13 ĵ + 18 k̂)
1

3

(6 î + 12 ĵ − 8 k̂)
3

2

( − 6 î − 8 ĵ − 9 k̂)
1

3

( − 6 î − 12 ĵ + 8 k̂)
2

3

https://dl.doubtnut.com/l/_beMFECvYO5o0
https://dl.doubtnut.com/l/_K10nwaZMdAxk


Answer: A

Watch Video Solution

77. consider the points  and  with position vector 

 and 

 respectively then  is

A. parallelogram but not a rhombus

B. square

C. rhombus

D. rectangle

Answer: C

Watch Video Solution

A, B, C D

7
→
i − 4

→
j + 7

→
k ,

→
i − 6

→
j + 10

→
k , −

→
i − 3

→
j + 4

→
k

5
→
i −

→
j +

→
k ABCD

https://dl.doubtnut.com/l/_K10nwaZMdAxk
https://dl.doubtnut.com/l/_ojzQeFzkfzrh


78. In a right angled triangle ABC, the hypotenuse AB =p, then

 is equal to:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−−→
AB.

−−→
AC +

−−→
BC.

−−→
BA +

−−→
CA.

−−→
CB

3p2

3p2

2

p2

p2

2

79. Let  and a unit vectors  be

coplanar. If  is prependicular to , then 

A. 

B. 

C. 

ā = 2 î + ĵ + k̂, b̄ = î + 2 ĵ − k̂ c̄

c̄ ā c̄ =

( − ĵ + k̂)
1

√2

( − î − ĵ − k̂)
1

√3

( î − 2 ĵ)
1

√5

https://dl.doubtnut.com/l/_9REkgu36gOqO
https://dl.doubtnut.com/l/_YCgFHOxLIdnn


Evaluation Test

D. 

Answer: A

Watch Video Solution

( î − ĵ − k̂)
1

√3

1. Given  are three non-zero vectors, no two of which are collinear. If

the vector  is collinear with  and  is collinear with , then

: =

A. a unit vectors

B. a null vectors

C. equally inclined to 

D. None of these

Answer: B

W t h Vid S l ti

ā, b̄, c̄

(ā + b̄) c̄ (b̄ + c̄) ā

ā + b̄ + c̄

ā, b̄, c̄

https://dl.doubtnut.com/l/_YCgFHOxLIdnn
https://dl.doubtnut.com/l/_fphLwIMtWbc5


Watch Video Solution

2. If  are three non-coplanar vectors such that 

 if 

, then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ā, b̄, c̄

r̄1 = ā − b̄ + c̄, r̄2 = b̄ + c̄ − ā, r̄3 = c̄ + ā + b̄, r̄ = 2ā − 3b̄ + 4c̄,

r̄ = λ1r̄1 + λ2r̄2 + λ3r̄3

λ1 = 7

λ1 + λ3 = 3

λ1 + λ2 + λ3 = 5

λ3 + λ2 = 2

3. Let a,b,c be distinct non- negative numbers . If the vectors

 lie in a plane then c is

A. The arithmetic mean of a and b

aî + aĵ + ck̂, î + k̂  and  cî + cĵ + bk̂

https://dl.doubtnut.com/l/_fphLwIMtWbc5
https://dl.doubtnut.com/l/_f2jV2AUG1ZCw
https://dl.doubtnut.com/l/_4nJhrHVWepIh


B. The geometric mean of a and b

C. The harmonic mean of a and b

D. Equal to zero

Answer: B

Watch Video Solution

4. The edges of a parallelopiped are of unit length and are parallel to

non-coplanar unit vectors hat a.hatb=hatb

.hatc=hatc.hata=1/2`. Then, the volume of parallelopiped is

A.  cubic units

B.  cubic units

C.  cubic units

D.  cubic units

Answer: A

→
a ,

→
b ,

→
c suchtˆ

1

√2

1

2√2

√3

2

1

√3

https://dl.doubtnut.com/l/_4nJhrHVWepIh
https://dl.doubtnut.com/l/_KOR8KlgA6KiV


Watch Video Solution

5. If the vectors

 are

coplanar, then the value of 

A. 

B. 

C. 

D. 1

Answer: D

Watch Video Solution

a î + ĵ + k̂, î + b ĵ + k̂ and î + ĵ + c k̂(a ≠ b ≠ c ≠ 1)

+ + =
1

1 − a

1

1 − b

1

1 − c

−1

−
1

2

1

2

6. The value of a so that volume of parallelopiped formed by vectors

 becomes minimum isî + a ĵ + k̂, ĵ + a k̂, a î + . k̂

https://dl.doubtnut.com/l/_KOR8KlgA6KiV
https://dl.doubtnut.com/l/_PT3t1DwkhpSR
https://dl.doubtnut.com/l/_TlN4I8UbUW57


A. 

B. 2

C. 

D. 3

Answer: C

Watch Video Solution

√3

1

√3

7. If  then the value of  is equal to

A. 1

B. 

C. 

D. 0

Answer: C

Watch Video Solution

ā. b̄ = b̄. c̄ = c̄. ā = 0 [ā  b̄  c̄]

−1

|ā|∣∣b̄∣∣|c̄|

https://dl.doubtnut.com/l/_TlN4I8UbUW57
https://dl.doubtnut.com/l/_Q4lZnlN3IgQ2


8. Let  be three

given vectors. If  is a vector such that , then

the value of  is

A. 4

B. 8

C. 6

D. 9

Answer: D

Watch Video Solution

ā = − î − k̂, b̄ = − î + ĵ and c̄ = î + 2 ĵ + 3 k̂

r̄ r̄ × b̄ = c̄ × b̄ and r̄. ā = 0

r̄. b̄

9. If  are vectors such that 

then a possible value of  is

ā and b̄

∣∣ā + b̄∣∣ = √29 and ā × (2 î + 3 ĵ + 4 k̂) = (2 î + 3 ĵ + 4 k̂) × b̄,

(ā + b̄). ( − 7 î + 2 ĵ + 3 k̂)

https://dl.doubtnut.com/l/_Q4lZnlN3IgQ2
https://dl.doubtnut.com/l/_XAwx6oVvHuI2
https://dl.doubtnut.com/l/_5Izn5OARfk0F


A. 0

B. 3

C. 4

D. 8

Answer: C

Watch Video Solution

10. If the vectors  are non -coplanar and  are distinct

scalars such that 

 then

A. 

B. 

C. 

D. 

→
a ,

→
b ,

→
c l, m, n

[ l
→
a + m

→
b + n

→
c l

→
b + m

→
c + n

→
a l

→
c + m

→
a + n

→
b ] = 0

lm + mn + nl = 0

l + m + n = 0

l2 + m2 + n2 = 0

l3 + m3 + n3 = 0

https://dl.doubtnut.com/l/_5Izn5OARfk0F
https://dl.doubtnut.com/l/_X2kg5IFFdbXZ


Answer: B

Watch Video Solution

11. P is any point on the circumference of the circumcircle of . H is

the orthocentre, M is the midpoint of PH and D is the midpoint of BC.

Then

A. DM is parallel to AC

B. DM is perpendicular to AP

C. `DM is perpendicular to AB

D. None of these

Answer: B

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_X2kg5IFFdbXZ
https://dl.doubtnut.com/l/_SF1aZkcDxn3R


12. The three vectors

 are

A. Collinear

B. Coplanar

C. Non-coplanar

D. Mutually perpendicular

Answer: B

Watch Video Solution

10 î + 13 ĵ + 16 k̂, 30 î + 33 ĵ + 36 k̂ and 47 î + 50 ĵ + 53 k̂

13. If the volume of parallelopiped whose concurrent edges are

 is 110 cu. units,

then the value of  is

A. 3

B. 5

3 î − ĵ + 4 k̂, 2 î + λ ĵ − k̂ and − 5 î + 2 ĵ + λ k̂

λ

https://dl.doubtnut.com/l/_XGKd5L1mNXjm
https://dl.doubtnut.com/l/_C6Z6gdyIJuGg


C. 0

D. 

Answer: A

Watch Video Solution

31

3

14. If the vectors  are parallel,

the value of  respectively are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

5 î − x ĵ + 3 k̂ and − 3 î + 2 ĵ − y k̂

x and y

,
10

3

9

5

− , −
10

3

9

5

,
9

5

10

3

− , −
9

5

10

3

https://dl.doubtnut.com/l/_C6Z6gdyIJuGg
https://dl.doubtnut.com/l/_wPpwfCk2QFN5
https://dl.doubtnut.com/l/_kUx2xeqEw4Q2


15. If the position vector of p is  divides PQ internally in the

ratio , the position vector of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3p̄ + q̄ and p̄

3: 4 Q

(5p̄ + 4q̄ )
1

3

(4p̄ + 5q̄ )
1

3

(5p̄ + 4q̄ )
−1

3

(4p̄ + 5q̄ )
−1

3

16. 

are vectors of triangle ABC, if AD is the angle bisector of angle BAC, then

the co-ordinates of the point D are

A. 

A(ā) = 3 î + 2 ĵ, B(b̄) = 5 î + 3 ĵ + 2 k̂, C(c̄) = − 9 î + 6 ĵ − 3 k̂

( − , , )
19

8
57
16

17
16

https://dl.doubtnut.com/l/_kUx2xeqEw4Q2
https://dl.doubtnut.com/l/_Yiak1E81ql9H


B. 

C. 

D. 

Answer: D

Watch Video Solution

( , , )
19

8
57
16

17
16

( , , )
19

8
57
16

17
16

( , , )
19

8
57
16

17
16

17. In  the mid points of the sides AB, BC and CA are

 respectively. Then, 

is equal to

A. 2

B. 4

C. 8

D. 16

Answer: C

ΔABC

(l, 0, 0), (0, m, 0) and (0, 0, n)
AB2 + BC 2 + CA2

l2 + m2 + n2

https://dl.doubtnut.com/l/_Yiak1E81ql9H
https://dl.doubtnut.com/l/_VsPIsENocQvE


Watch Video Solution

18. Find the coordinates of the
 foot of the perpendicular drawn from

point 
to the join of points 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A(1, 0, 3) B(4, 7, 1)andC(3, 5, 3).

( , , )
5

3
7
3

17
3

(5, 7, 17)

( , − , )
5

7
7
3

17
3

( − , , )
5

7
7
3

17
3

https://dl.doubtnut.com/l/_VsPIsENocQvE
https://dl.doubtnut.com/l/_EaSrTwvrzjyN

